
What advantage 
do social alarm 

calls bring to
penguins?

Had our 
leucistic penguin 
Snowflake been 

born in the wild, he 
would have fathered 

MANY chicks.

True or false?

Because of the above 

answer, in the wild 
Snowflake would be 

considered to have LOW 

biological fitness.

True or false?

Fill in the missing words.
over time, ______. And ________  Led to _________.Mutations / adaptations / sexualreproduction

Fill in the missing words.

The diversity of life 

around us has all 

evolved from a ____ 

common _______ over 

billions of years through 

____________.

Speciation / ancestor 
/ Single

What advantage 

does gro
up 

hud
dlin

g 

bring to penguins?

A leucistic 
penguin’s 

biological fitness 
is likely to be 

HIGHER in 
captivity than in 

the wild.

True or false?

What advantage does 

porpoising
(jumping from the 

water like a dolphin) give 

penguins in the wild?


